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tan, cot +ve
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Cos, sec +ve
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sin(360° — 0) = sin(—0) = —sind;

cos(360° — 8) = cos(—0) = cos0;
tan(360° — ) = tan(—60) = —tanb

% (—0) @ited farsrefNfes Speire ¢

AN

sin(—0) = —sinB; cos(—0) = cosB; tan(—0) = —tanh cosec(—0) = —cosech; sec(—0) =

secB; cot(—8) = —coth
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= cos(4 x 90° + 30°) = cos30°
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Sin «—— coS
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sec «——» cosec

@9 : cos438°
= cos(5 X 90° —12°) = sinl2°
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*k%gin2 @ 4+ cos? @ = 1%%* csc? @ — cot? @ = 1***sec? @ —tan? 6 =1
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1.sin(A + B) = sinAcosB + cosAsinB  2.sin(A — B) = sinAcosB — cosAsinB

3.cos(4 + B) = cosAcosB — sinAsinB  4.cos(A — B) = cosAcosB + sinAsinB

tanA+tanB tanA—-tanB
5.tan(A+ B) = — 6.tan(A—B) = ———
1-tanAtanB 1+tanAtanB
cotAcotB—-1 cotAcotB+1
7.cot(A+B) = ——— 8.cot(d —B) = ——"—
cotB+ cotA cotB—cot4

** 43 = (a + b)? - (a — b)?
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3tan 6—tan36

sin 6 < tan30 =
1-3tan20
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1.2sinAcosB = sin(A + B) + sin(A — B)
2. 2cosAsinB = sin(A + B) — sin(A — B)
3.2cosAcosB = cos(A + B) + cos(A — B)
4.2sinAsinB = cos(A — B) — cos(A + B)
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) . . C+D c-D
1.sinC +sinD = ZSLTITCOST

) . C+D . C-D
2.5inC —sinD = ZCosTsmT

C+D c-D
3.cosC + cosD = 2COSTCOST

. C+D ., D-C
4, cosC — cosD = ZSstmT
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1. sin2A = 2sinAcosA
2. cos2A = cos?A — sin?A
3. 2cos?A =1 + cos2A
4. 2sin’A =1 — cos2A
2tanA
5. tan2A = tan
JranA
6. sin2A =
1+tan254
7. C0oS2A = 1_tan2A
1+tan<A
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* 4sin3A = 3sinA — sin3A + sin3A = 3sinA — 4sin3A
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* 4c0s3A = 3cosA + cos3A * c0s3A = 4cos3A — 3cosA
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® osA = cos? > sin? S
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e sinA = ZSIHECOS

® 2cos? g = 1+ cosA
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® 2sin? > = 1 — cosA
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sinA sinB sinC
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2ca 2ab
< AABC fagtsa sy @ ¢ (RO o a19%e 2@) A

(i) a = b cosC + c cosB ¢ b

(ii) b = c cosA + a cosC

(iii) c = a cosB + b cosA B C

% Taorem craweeE @ 3
1. AABC = /s(s —a)(s — b)(s — c¢) (frgrem fomarga ks orat <iweet cvaeet frefest &y
G 3 YIRS FACO A | )

2. wgeifae 5 = e
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3. AABC = % bc sinA = % ca sinB = % ab sinC (fagrem it wfyfke g @3z @ ot
AT CFAFT W & 9% 7@ G TS A | )
% ABC & @ fagre
1. sin(B + C) sin(B — C) = sin?B — sin?C
2. sin(C + A) sin(C — A) = sin?C — sin?A
3. sin(A + B) sin(A — B) = sin?A — sin?B
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